PROJEKT

VIENNA 120 RIGHT SINGLE -+ CARPORT
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PU - 118.3 m* + 16,2 m*(carport) + 22,1 m’ (errace]
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PU - 53.8 m’ + 16,2 m*{carport)

983,7
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VIENNA 120 RIGHT SINGLE -+ CARPORT

o
6
115 115
23
22.11m?
_
423
@ .
v O \
E
oz 3029
=s S —
zZ> 22 N S
3 - x
[ E 9,04 m? ~ i
® —
7
/
/
/
/
L _|ID>
[$)]
[$)]
T~
B 2.1
=
© 2,04m?
ﬁ
369,3 ‘ | 220,7| . | \415
A E A
w
®

PU = 11,2 m*+ 22,1 m’ (terrace)
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VIENNA 120 RIGHT SINGLE -+ CARPORT
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VIENNA 120 RIGHT SINGLE
+ GARPORT
] T T
]




PROJEKT

VIENNA 120 RIGHT SINGLE

+ GARPORT




